Занятие от 3 ноября, группа 31Э, преподаватель Самолюк И.Ю.
В начале занятия ОБЯЗАТЕЛЬНО подпишите Фамилию, имя и номер группы.

Потом переходите к теме урока!!!

В начале урока выполняем тестовое задание:

Зад 1 – записать и перевести слова, определив часть речи
Зад 2 – перевод предложений

Зад 3 – решить задачу

БЕЗ ВЫПОЛНЕНИЯ ТЕСТА РАБОТА НЕ ЗАСЧИТЫВАЕТСЯ!!!
[image: image1.emf]
III. Draw a scheme of a mutual inductance. Describe the schemes
Тема урока «Фильтры» Filters
1. Записать новые слова с переводом. Выучить 
[image: image2.png]filter [filta] dunstp
bypass ['barpa:s] LIyHT
choke [tfouk] npoccets
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упр 2. ТЕКСТ– читать и переводить устно.  Схему перечертить в тетрадь,
выписать ее описание из текста!
[image: image4.png]Filters

This filter is used to separate direct cur-

p rent from alternating current. It consists of

AL a capacitor and a choke coil. Direct current

L cannot flow through the capacitor since its

Ry DC— insulators oppose the flow of direct cur-

rent. Therefore, it flows through the choke

coil. Its windings easily pass direct current

Fig.13 through them. Alternating current, on the

other hand, passes through the capacitor,

since it cannot easily pass through the choke coil. In this way the direct
and the alternating currents are separated.

I. A high-pass filter is used to pass high frequencies and to prevent
the flow of low frequencies. It consists of a condenser and an inductance
coil. The condenser passes currents of high frequencies and opposes the
flow of low frequency currents. Low frequencies must be returned to the
source and the inductance coil is used for a bypass.

I1. A low-pass filter is used to pass low frequencies and to prevent the
flow of high frequencies. It consists of an inductance coil and a con-
denser. The inductance coil passes low frequencies and opposes the flow
of high frequencies. To return the high frequencies back to the source, a
condenser is used for a bypass. Its capacity opposes the flow of low fre-
quencies through it.
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Упр 3. по содержанию текста записать ПОЛНЫЕ предложения , выбрав правильный вариант, и их ПЕРЕВЕСТИ

[image: image5.png]1. A filter is used in order a) to separate d.c. from a.c.
b) to transfer energy from the primary to
the secondary.




[image: image6.png]. A filter consists of

. Direct current easily passes
. Alternating current easily

passes

. A low-pass filter is used

. In a low-pass filter

. In a high-pass filter

¢) to separate low frequencies from high
frequencies.

a) aresistor and a transformer.
b) a choke coil and a capacitor.
¢) an inductance coil and a capacitor.

a) through a choke coil.
b) through a capacitor.

a) through a capacitor.
b) through a choke coil.

a) to pass high frequencies and to prevent
the flow of low frequencies.

b) to pass low frequencies and to prevent
the flow of high frequencies.

a) a capacitor is used as a bypass.
b) an inductance coil is used as a bypass.

a) an inductance coil is used as a bypass.
b) a capacitor is used as a bypass.




упр 4.  продолжить предложение по смыслу, добавив слово on the other hand. Изучите образец. Обратите внимание на слова, выделенные жирным шрифтом:
[image: image7.png]Model: Direct current passes through the choke coil of a filter; alternating
current, on the other hand, passes through the capacitor.

A low-pass filter is used to pass low frequencies ... ... .

In a high-pass filter an inductance coil is used as a bypass ... .

A high-pass filter is used to prevent the flow of low frequencies ... ... .
Alternating current passes through a capacitor ... ... .
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Упр 5. выполнить технический перевод текста и сформулируйте ответ на поставленный ниже текста вопрос:
[image: image8.png]Choke Input Filter and Capacity Input Filter

rectify [rektifai] BinpamuTs,
eliminate [(limmeit] yctpanuts

A choke input filter and a capacity input filter are used in rectifiers.
Filters of this kind are connected to rectifiers in order to eliminate pulsa-
tions produced in rectified current.

1) Choke input filter is a low-pass filter. A choke coil is in series with
the rectifier output.

2) Capacity input filter is a high-pass filter. A capacitor is connected
directly across or in parallel with the rectifier output.

What is the difference between a choke input filter and a capacity in-
put filter?




Домашнее задание:  Слова новые учить 

! Выполненные письменно задания отправить на проверку по почте:   irinasamolyuk@yandex.ru
В теме письма указать Фамилию Имя, группу, дату задания по расписанию
